é ?&> m A/ Calculer les pourcentages de décimales

Nom: Date: Note:
6,22 x 50% = 2,77 % 90% =
9,26 x90% = 4,22 x 80% =
7,42 x70% = 7,86 x 50% =
1,45 % 90% = 0,58 x 20% =
5,08 x40% = 4,8 x20% =
1,5x20% = 8,4 x50% =
7,59 x40% = 1,54 x 80% =
8,41 x30% = 2,05 x20% =
8,93 x 60% = 7,98 x 50% =
2,99 x40% = 7,3 x90% =
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Calculer les pourcentages de décimales

Nom:

6,22 x 50% = 3.11

9,26 x 90% = 8.334

7,42 x70% = 5.194

1,45 x90% = 1.305

5,08 x 40% = 2.032

1,5x20% = 0.3

7,59 x 40% = 3.036

8,41 x30% = 2.523

8,93 x 60% = 5.358

2,99 x40% = 1.196

Date: Note:

2,77 x90% = 2.493

4,22 x 80% = 3.376

7,86 x 50% = 3.93

0,58 x20% = 0.116

4,8 x20% = 0.96

8,4 x50% = 4.2

1,54 x 80% = 1.232

2,05 x20% =041

7,98 x 50% = 3.99

7,3 x90% = 6.57
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